M/% 108 Gecs | et 2 L oy (P~ierr
Jotar 7o 2

# /34) C::Y/ﬁﬂc/le /72@5(*7;(’!4/” 0/‘“‘
ﬁ% wZ) = at o

KE€ yZ2e ™

g,ii/:’_’/’.‘iifl e hove Gad (F1=VF = @—)‘é %f/ i_é%)

b BF 6 fe guhet ndet feg youd 3

S X

'g)ffﬁ/ ar A e 2 X - /?c/_s

9 2 25 B Z & 3
> [&‘("ﬁ‘)j(xz*‘f’f%) —xvz 5= (xZty2er’)
N

(XZ +72.(_2?,)2,
= YE(LH*2Y) = Xv2 (25) 7)) Lfh wmens
z 2 =) 2 ore e
(X + +2;)

= YZ( ¥y t3® - ¥F)
(X* €% +2*) "

5(0%/52/--9 Ccm/‘/k 9%)' S 4 B_F/é >

Vﬂc . (2 (2™ %) xz(x% 2°-v®) xy(xzwz-%_q
— ()(2"‘727“%7& e

/ (Xzﬁz-pz-’/t / ( Xz‘g\/zf?zj?.

’_,,/.._—



Sfaf?{m Q V) 2 ) 5{’6434 X = 25&7'&, Y= & cos &

e o2 & £27

&M Co ClE) = é(ﬁ)j y(tj>

(//& ﬁo@ ﬂzﬁ /S /26 @‘fc_/éﬁaa s @7 e./é/oé_f .
(fi/_t) \2}& Ye)| & ny

Z L
= ' 7.
& & ﬂxﬁ o Jc/jf’ L/f(r;-é— . /gi,;é _ { o
E N\
: t=o aA 27

/ - @s & (~Crises
/ . Move ¢ (oclecse

L(/Z@, -é'l':o chﬁé’ Cla) = (250;0/ & cos O) = (Oz )

+ =27 A‘?W c( 2%7) :@StrzZ/T’i/ Yos27) = Iy

WOJGL g ey Eowll e /Jéﬁoiﬁ ClL) ¢s (= Phe
6ot 4 ol 2ot — hovezs e e bese



